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l. «to be + of +noun»

Model

This book on economics is of great interest.

OTa KHHUTa 110 YKOHOMHKE npeocmaefmemc;t UCKJIIOYUMETIbHO unmepecnoﬁ.

Economic statistics are of profound interest to economic policy decision-makers.
The question what, how and for whom to produce is of great significance.

Economists’ recommendations may be of high value to governments but governments do not
always rely on them.

Since economists cannot make experiments, collecting and using information from a large num-
ber of past years is of paramount importance for analyzing and solving problems of today.

The optimal level of government intervention remains a problem which is of intense interest to
economists.

Between the two main types lies the mixed economy where market and government are both of
utmost importance.

Collateral is of key importance to bankers as a secondary source for repaying the loan in case the
firm’s cash flows are insufficient.




II. Noun chains lll. That, those

A) “THAT”’: SUBSTITUTE WORD

Model

The euro zone is facing a short-lived growth slump because of problems in Brazil
and other regions across the globe.

B 30me eeépo npoucxomuT KpaTKOCPOUHOE CHUIMCEHUE IKOHOMUUECKO20 pocma
u3-3a npooaeM B bpaswinu u B Ipyrux peruoHax Mupa.

The Treasurer introduced a Bill to implement the Government’s plan to give preferential taxation
treatment to life insurance companies.

Home Office spokesman said yesterday that their policy was not to disclose any information
about a taxpayer or his affairs without his prior consent.

Civil Service unions, who staged a one-day nationwide protest walkout against government pay
curbs, threatened widespread chaos at airports, aimed at U.S. airliners.

Sanyo Electric expects to show record profit and sales figures for the year ending next Nov. 30.

The Japanese government, and some economists elsewhere, have proposed that Europe, the Unit-
ed States and Japan set exchange rate «target zones» so as to re-establish the stable international
currency relationships that existed under the Bretton Woods system and ended when the United
States «floated» the dollar in 1971.

Canada’s defense industry is against changes in US export control regulations that have elimi-
nated Canada’s long-standing exemption from certain US export licensing requirements.

Paradoxically, the poll returns mean that he will be able to go ahead with his plan to introduce
a pay-as-you-earn income tax scheme, which had been the main issue of the elections.

Model 1

The monetary value of all goods and services can be added up and compared with
that of other countries.

JIeHEeXKHYI0O CTOMMOCTB BCEX TOBAPOB U YCIYT MOYKHO CIIOKUTHh U CPABHUTH C
IMOU JHCe 6eIUYUHOU B IPYTUX CTPAHAX.

The US economy is more than twice as large as the next largest economy, that of Japan.
A major problem faced by command economies is that of deciding what to produce.

Often in return for undertaking serious economic reform, the IMF will assemble a package of
loans from several sources, including its own money and that of private banks.

If a person runs a private business, his work is partly that of an employer and partly that of a
worker.

Tax revenue following a reduction in taxable income and a rise of the number of taxpayers was
expected to be much higher than that raised previously.

An important influence was that of John Maynard Keynes, an English economist who developed
a way to analyze and explain economic depressions.

In general, the role of the federal government was influenced by the concept of “laissez-faire”, a
doctrine opposing government interference in the economy except that necessary for the mainte-
nance of law and order.
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B) “THAT IS (TO SAY)”: CONNECTOR

Model 2

Some societies began to use another kind of money, that is precious metals.

Hexotopsie ob1miecTBa Ha9a M UCTIONB30BATh IPYTOM BUJI JICHET, & UMEHHO,

AparoncHHbIC MCTAJIJIBI.

There is a close relationship be-
tween income, output and expen-
diture, that is total income must
always equal total output which
must always equal total expendi-
ture.

The main statistics illustrating the
economy’s behavior relate to the
level of activity in the economy.
That is, they tell us whether the
economy is working at full capac-
ity using all or nearly all, avail-
able resources of labor, machinery
and other factors of production or
whether these resources are being
under-utilized.

You calculate other elasticities in the same way, that is by dividing the percentage change in
quantity by the corresponding change in price.

The second of the three economic issues is the question of income, that is, income distribution,
the way in which income — that’s what people earn — is distributed or shared around.

Each additional worker produces less additional film. That is to say, each transfer reduces output
per worker in the film industry.

Households receive payments for these factor services, that is to say, they earn factor incomes,
such as wages, rents and profits.

Proponents of either of these views are often labeled in terms of contemporary politics. That is to
say, a conservative is usually defined as one who generally favors private initiative and opposes
government intervention; a liberal is usually defined as one who supports private enterprise but is
more willing to accept government intervention, and perhaps enthusiastically supports it.

C) “SO THAT” : CONJUNCTION, INTRODUCING CLAUSES OF PURPOSE AND
CONSEQUENCE (in order that, having the effect of)

Model 3

Imports are sometimes taxed or limited by volume so that our products can better
compete with foreign goods.

HMmiopTHBIE TOBapbl HHOTJIA 00aratoTcsl HaJIOroM, JIM00 UX KOJIMYECTBO
OTrPaHUYMBAETCS, YMOObI HAIW TOBAPHI MOIJI JIyYllle KOHKYPHUPOBATh C
TOBapaMH MHOCTPAHHOT'O IPOU3BOJICTBA.

1 Finished goods are held in stock so that the firm can cope with variations in demand.
2  Farmers wanted a low tariff on imports, so that they could buy consumer goods more cheaply.

3 The War Production Board was created to coordinate the nation’s productive capabilities so that

military priorities would be met.

4 Another of Kennedy’s goals involved accelerating the U.S. space exploration program so that it

would surpass Soviet achievements.

5 After becoming established, these settlers campaigned to get the law changed so that some of the

land was declared free, while other lands could be bought at a minimal price and paid for over a
period of years.

6 [norder to simplify the bookkeeping, the European Currency Unit (ECU) was created, with an

official value based on a «basket» of currencies so that it would be more stable than any one cur-
rency.

7 We are strengthening efforts to improve financial literacy, so that borrowers better understand

sophisticated lending products and the obligations they carry.

11



D) “THOSE”: SUBSTITUTE WORD

Model 4

The goods sold in the market are of lower quality than these of our company.

KauecTBO TOBapoB, Mpo/1aBa€MbIX Ha PhIHKE, HUKE KAYecmea moeapoes Hauei
KOMITAHWH.

1 Stresses in the banking system are difficult to quantify—more so even than those in cur-

rency markets.

2 Support for protectionist measures, such as those advocated by statesman Alexander Hamil-

ton just after the American Revolution, has often been strong.

3 A firm becomes a conglomerate when it expands into the production and sale of products quite

different from those with which it was traditionally involved.

4 The modern markets, particularly those in New York and Chicago, rely heavily on computer-

ization each day to process millions of transactions.

5 Every social group has certain economic interests identical with those of all groups and also

interests antagonistic to those of all other groups.

6 The flurry of buying and selling also creates a temptation for some “insiders” (those with ac-

cess to special information) to try and manipulate the market in a given stock.

7 It should be remembered that, under company law, directors and managers are required to

12

serve the interests of shareholders, not those of employees, customers, or society at large.

IV. oneg, it

A) “ONE”: INDEFINITE PERSONAL PRONOUN

Model 1

One can easily understand peoples’ aspirations for world peace

JIErko noHsATh CTPEMJICHUC HAPOAOB K MHUPY BO BCCM MHUPC.

A W N =

How does one correctly assess the value of enterprises?
One has to replace inputs used up in one production cycle.

One defines efficiency as the relationship between factor inputs and output of goods and services.

One calls a consumer good such as a television, which is
used over long periods of time rather than immediately, a
durable good.

One should know that each partner is liable for the debts
of the business. >

It is easy to set up a proprietorship, as one has only to
purchase a license.

One can think of world income as the total of all the in-
comes earned by all the people in the world.

B) “ONE”: SUBSTITUTE WORD

Model 2
The economic crisis is now being compounded by a political one.

Ceiiuac SJKOHOMUYECKHI KPU3UC OCIOKHAETCSA U OJTUTUYECKUM (KPH3UCOM).

13
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A closed economy is one which has no transactions with the rest of the world.

Economic dependence upon a foreign country is also a major obstacle to growth although one
that is not always obvious and easily definable.

In their quest for profits, they move resources out of declining industries into expanding ones.
The economic system of the United States is principally one of private ownership.

The chief executive has set out to transform City from a bank that knew how to grow only
through acquisitions to one that grows “organically”.

Imagine a firm, which switches from labour-intensive production to one where new technology is
employed in the factory.

The marriage between the United States economy and the free enterprise system has been a
hugely successful one, but not one without problems.

C) “IT”: FORMAL SUBJECT

Model 3

It is possible for an agreement to be reached.

I[OCTI/I‘IB COITallICHUA BO3MOXKHO.

1 Itis advisable to evaluate the current position of the company by preparing a trial balance.

2 It is the function of a banking system to keep the very dynamic economic “machine” adequately

lubricated.

3 Itis necessary that we take an inventory of the capital assets.

It is essential that they keep accurate records of every transaction.

More importantly, in regard to truly ascendant powers such as China, it is imprudent to assume
that economic prosperity will necessarily pacify Chinese national ambitions.

6 Keynes was one of the first to argue that it was the special duty of government to actively influ-

ence the economy through fiscal policies.

7 To understand the model of stock control, it is first necessary to investigate why firms are willing

to invest in stocks.

D) “IT”: FORMAL OBJECT

Model 4
He felt it his duty to help the Government.

OH cuutan cBoel 00s3aHHOCTHIO TOMOYb MPABUTEIILCTRY.

9

Society considers if convenient to use a monetary unit to determine relative costs of different
goods and services.

Small family farms found it increasingly difficult to compete, and more and more farmers left
the land.

People found it a lot easier to give the seller a letter than if was to fetch some gold and then
physically hand it over to him.

During the rapid German inflation of 1922-1923 when prices in marks were changing very
quickly, German shopkeepers found it more convenient to use dollars as the unit of account.

The takeover bids that have pumped this year’s
stock market will be curtailed and the most debt-lad-
en borrowers may find it impossible to raise funds.

Contraband makes it possible for many workers to
buy electronic and other consumer goods that would
otherwise be out of reach.

Y

There is little evidence that mergers are making it
easier to cheat consumers; on the contrary, the abil-
ity to shop electronically, by telephone or on the
Internet leaves customers with more choices than
ever before.

In time, additional laws made it easier for the Fed
to expand credit when a financial disaster seemed

likely.

The independent-minded farmers sometimes found it hard to accept that they should think in
terms of long-range self-interest rather than next year’s crop.

Keynesians saw unemployment and inflation as opposing evils and found it difficult to explain

10 the coincidence of the two.




V.

Do

A) “DO”: SUBSTITUTE VERB

Model 1

Economies today depend less on oil than they did.

B HACTOAIICC BPEMSI DKOHOMUKHU MCHBIIIC 3aBUCAT OT H€(1)TI/I, YCM IIPCIKIC.

10
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n real terms, oil now costs roughly what it did 50 years ago.
We want to know why the economy works as it does.

While communism did not survive into the post-industrial world that we now are entering, capi-
talism did.

Civil servants probably have less training in business evaluation than do private sector analysts.

The number of workers in the film industry increases, and so doees the film output, but on the
whole each additional worker produces less additional films.

The firm has hired 1,000 extra brokers in the past two years and now brings in more revenue than
it did before the disaster.

Much American industry has migrated to the southern and western parts of the United States,
regions that have a weaker union tradition than does the North or the East.

If you believe, as most academics do, that markets are reasonably efficient, then investors can-
not trade profitably on the basis of public information, such as analyst recommendation, since all
such data are instantly incorporated into share prices.

Next year will be another depressing year on the farm. The federal government will try to help
out with emergency aid and by opening trade barriers, as it did recently with a new export agree-
ment with China.

The Governor made it brutally plain today, as he did yesterday, that further easing of interest rates
will be only limited and gradual.

B)

EMPHATIC “DO”

Model 2

The state of the economy and the general trend of national politics do have some
influence on the voters.

CocrostHre 3KOHOMHMKHU ¥ 0011asi TEHACHIUS Pa3BUTHS HALIMOHAJIBHON MOIUTHKA
oelicmeumebHO OKa3bIBAIOT HEKOTOPOE BIIUSHUE HA U30HUpaTemeil.

10

A planned economy is simple to understand but not simple to operate. It does, however, have a
number of advantages.

Speculators do play an important role in setting the price of oil and other raw materials.

What does represent a growing danger for the effectiveness of this organization is the reluctance
of some of its members to render assistance in case of financial difficulties.

We accept money not to consume it directly but because it can subsequently be used to buy things
we do wish to consume.

If a recession does become a reality — and the risks lean that way — there could be further to go.

This new information does seem to confirm our earlier claim that, on average, the offer price was
set below the free market price.

The gold standard does provide an automatic mechanism for adjusting imbalances in the trade
and payments of different countries in the world economy.

President Roosevelt might not have done all the things he promised to do and all the things he did
do might not be for the country’s good in the long run — but what he did do seemed so much bet-
ter than the deeds of any other single citizen in the land.

While people may have little
interest in whether a business is
public or private, they certainly
do care whether the phone works

or the bus comes in time. \

If we do experience a recession,
it will be because of the combina-
tion of adverse external events
and home-grown financial ex-
cesses.

17



VI. be

A) “BE TO”: MODAL VERB

Model 1

Microeconomics focuses on how individual prices are to be set.

MUKpPOIKOHOMHUKA KOHLIEHTPUPYET BHUMAHUE HA TOM, KAK (HyaHcHO)
yCTaHaBJIMBaTh IICHBI HA OT/ACJILHBIC BUAbBI IPOITYKIIHH.

18

N &6t AW N=

The market is to decide how much to produce.

Businessmen are to accept social responsibility beyond mere profit-making.

Prices are to regulate production and consumption in a market economy.

Responsibilities and obligations possessed by the Russian trade unions are to be envied.

The decree defined who was fo grant licenses to auditors and auditing firms and register them.
This act focused on full employment, but it didn’t specify how the goal was to be achieved.

When Congress passed the Employment Act of 1946, it declared that the promotion of maximum
employment, production and purchasing power was to be the policy of the federal government.

In making investment decision a financial manager is sure to use a wide variety of information
provided by all departments of the compar:y/

O It was to have been the biggest merger
in corporate history, creating a colos-
sus with a market capitalization of
$ 205 billion, second only to that of
General Electric.

1 0 Politicians and economists might ar-
gue about how to achieve growth and
how the fruits of growth were to be
distributed, but most people accepted
the desirability of growth.

B) “IF ...IS/ARE TO”, “IF ... WAS/WERE TO”

Model 2

Firms have to have confidence in future sales if they are to produce new goods
and services.

B cnyuae, ecnu xomnanuu 0yoym (XOTST, COOMPAIOTCS) TPOU3BOIUTH HOBBIE
TOBApbI U YCIYTH, OHU JIOJIKHBI ObITh YBEPEHBI B TOM, YTO 3TH TOBAPHI U YCIYTH
OyyT BOCTpeOOBaHHI.

10

Italy needs to get a firmer hold on this corner of the market if its dominance of the fashion indus-
try is not to be threatened.

If the solidity of bank finances is to be tested, the markets have chosen a good time to do so.

He realized early that France had to collaborate with other European countries if it was to com-
pete with the American aviation giants.

Changes are inevitable if confidence in the board is 7o be restored and it is to function properly.

If the economy were to head downhill fast, the Fed, despite its public worries about inflation, has
plenty of scope for cutting interest rates.

If the United Nations is o deal adequately with the new situation, it itself will first require re-
form.

Another topic was the importance of fully integrating nations such as Russia and China into the
world economic scheme if the United States and Europe are to have stable relations with them.

If capitalism with Chinese characteristics is not to become as dirty a phrase in China as crony
capitalism has in Russia, Eastern Europe and parts of East Asia, checks are urgently needed to
stop local bosses enriching themselves at others’ expense.

The major U.S. auto companies lost an astonishing $4.2 billion last year. Of the three, only Gen-
eral Motors is likely to show a profit this year. If the two weaker companies were to collapse,
hundreds of thousands of jobs would be lost in the auto industry alone, and perhaps a million
jobs, taking into account the industries that produce materials for cars such as steel and glass.

Investment raises the productivity of labour and land, and is therefore essential if firms are to
remain competitive.

19



VIIl. Passive Voice

Model 1

High investment is associated with rapid growth of demand.

Bricokuii ypoBeHb KalMTaIOBIOKEHUE C6A23aH C OBICTPBIM MOBBIIIICHUEM CIIPOCA.

Model 2

The fluctuations in price are influenced by supply and demand.

HpCI{J’IO)K@HI/Ie H CIIPOC OKa3vlearom éiusinue Ha KoJeOaHus OCH.

1 Economists are interested in the overall level of investment for two basic reasons.
2 The weapons of Keynesian demand management are taxation, government spending, interest
rates, to a lesser extent, controls on bank lending. The first two weapons are referred to as fiscal

policy, whereas the last two weapons are referred to as monetary policy.

3 Venture capital is often associated with two developments of recent decades — management buy-
outs and management buyins.

Decentralized purchasing means that considerable discretion is given to departments.

5 Statistical quality control is based on the assumption that perfect quality is unattainable and/or
too expensive.

6 High stock levels mean that excess capital is fied up in an unproductive manner.

7 Much of the European Commission’s activity is carried out at a technical level in Committees,
and the Commission is with some justification accused of excessive secrecy.

/

Earnings trends were influenced by exchange rates during the year.

Foreign exchange prices are influenced by economic and political events and sometimes by the
speculation of individual traders.

Bureaucrats do not understand the quasi-automatic system of the market. They are always dis-
turbed by it.

Aggregate demand is the powerful economic signal that stimulates production of goods that truly
are wanted by a significant number of individual people.

There is no doubt that external sources of inflationary tension are followed by or in some cases
supplemented by a certain number of internal factors.

The transition period was hindered by a crumbling infrastructure, rising unemployment and hy-
perinflation.

In its simplest form, monetarism can be traced back to ancient times.

21
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Model 3

This relatively predictable part of income is called consumption spending.

DTy OTHOCHUTENBHO NIPEACKA3yEMYIO 4acTh JOX0/a HA3bl6aiom NOTPEOUTENbCKU-
MU pacxofamu.

1

Pension protection should be guaranteed to workers who are transferred from public to private
employment, e.g. through outsourcing.

Anderson’s freeconomics thesis is that more and more goods and services are being provided for
free and that those businesses that fail to follow suit are likely to go to the wall.

3 Risk is a basic feature of business life. The
future is uncertain and business decisions
are made in the absence of perfect knowl-

/ edge of the future course of events.

4 As incomes are earned from contributing
to production, national income is logically
equal to national output.

5 For the short- and long-term health of the
economy, investment is seen as being of
crucial importance.

Because financial accounts are prepared for shareholders it is essential that they are produced
under a standard set of rules.

In this model, investment-banking products are sold to wealth-management clients, and wealth-
management products to investment-banking clients.

VIIl. Participle
and participial construction

A) PARTICIPLE I: ATTRIBUTE

Model 1

No one minimized the scale of the problems facing the EU, which is seeking to
reform its budget

HukTo He npeymeHnbinan Macitadbl mpobieM, cmoauiux nepea EBponeiickum
Co1030M, KOTOpPBIN CTPEMUTCS PEPOPMUPOBATH CBOU OIOIKET.

1 All the spending taking place in the economy adds up to aggregate demand.

2 Oil and its derivatives are basic inputs for many household products ranging from plastic utensils
to polyester clothing.

3 Positive economics analyses issues relating to the description of the past and the prediction of the
future.

4 For traders willing to take on the substantial risk of uncertainty in equity markets today, cheaper
assets are certainly attractive.

5 People looking at the instability in global financial markets will have heard the usual mix of opti-
mistic and pessimistic assessments, each presented with equal vigor.

6 The National Foreign Trade Council,
representing 550 of the nation’s top
multinational companies and banks,
warned in a report yesterday that inter-
national provisions in the US tax code
were seriously «out of step» with those
of other big industrial countries.

7 Agricultural land prices are rising fast,
thanks to confidence in the industry’s
future and to rich-but-disillusioned
City slickers looking for a slice of ru-
ral idyll to retire to, or at least to spend
their weekends in.

23



B) PARTICIPLE II: ATTRIBUTE

Model 2

Under soviet power the function of revising accounting transactions was exercised
by inspectors called ‘revisers’

ITpu coBeTckoii BIacTu GyHKIIHS IPOBEPKH OYXTAITEPCKUX ONepariuit
BBITTOJTHSIACH MHCTICKTOPAMH, HA3bl8AGUMUMUCA PEBU30PAMHU.

1 Those involved in making decisions whether to invest abroad will be sensitive to the actual and
expected situation in foreign exchange markets.

2 Economists make a number of assumptions that, although somewhat divorced from reality, enable
us to concentrate on the variable we wish to study.

3 Infrastructure providers such as Ericsson are vulnerable to difficulties experienced by mobile
phone makers and network operators.

4 In the United States, impetus for management change got a big boost in 1984, when the giant Bell
Telephone System, a private monopoly regulated by government ceased to exist.

5 But the right-wing Labour leaders, though forced
to give way on some questions, will stick to the
policies which have brought about a falling stan-
dard of living for working people.

6 The 19th-century economists thought capital only
to comprise wealth produced by industry in the
past. Wealth, such as land and ore, not having
been produced, was not included in capital.

7 By choosing a basket of necessary goods and
services and calculating their cost in different
countries around the world, we can compare the
purchasing power or “real” value of salaries from
country to country. It gives us a more reliable ex-
change rate, called purchasing power parity (PPP).

C) PARTICIPLE I: ADVERBIAL MODIFIER

Model 3

Commenting last night on the plan he warned the Ministry of the critical situation
which might develop.

Buepa BeuepoM, kommernmupya 3TOT IJ1aH, OH NPETyIPEANI MUHUCTEPCTBO O
TOM, UTO MOJIO)KEHUE MOXKET OKAa3aThC KPUTUUECKUM.

Model 4

Being traded openly on the stock exchange, government securities make mon-
etary policies more flexible.

Tax Kak TOCyIapCTBEHHBIE IICHHBIC OyMaru HaXosATCS B OTKPHITON MpoJake Ha
boHI0BOM OUpIKE, OHU JENA0T KPEIUTHO-ICHEKHYIO MOJUTUKY 0oJiee THOKOI.

Imposing customs tariffs, the governments protect domestic producers.
Serving as a means of exchange, money is essential in economy.

Holding stocks of goods wholesalers perform a valuable economic function maintaining the nec-
essary level of goods supply.

America’s commercial banks bought back $58 billion-worth of their shares, suggesting they have
capital to spare.

Trade data due this week is forecast to show a weakening in the manufacturing sector, heighten-
ing the risk of an imminent recession.

The rapid industrialization of China’s economy means that it is likely to consume a majority of
the world’s supply of all the major metals and minerals, potentially leading to clashes with other

countries over access to resources.

Figures for the number of properties changing hands in the period from July to October showed a
marked decrease from the previous year, adding to the picture of a cooling market.

Being issued by the Treasury on a weekly basis, bills may be considered an instrument of the
monetary policy.

Being an important part of distribution process, wholesaling helps manufacturers and retailers to
avoid the risk of a fall in demand, for example due to fashion changes.

25



10 Being an agreed measure of future payments in contracts, money serves as a standard of de-

11

ferred payment.

Only being provided with the required resources, an enterprise can work efficiently and increase
its output.

12 Being responsible for the national debt, the Central Bank makes repayments on government se-

curities, issues new long-term securities, makes regular payments of interest to holders of existing
government securities.

D) PARTICIPLE II: ADVERBIAL MODIFIER

Model 5
If given the opportunity, this industry will rapidly develop.

Ecnu >ToM oTpaciu NpOMBIIIJIEHHOCTH Bpedocmasums 01a20npusmnsle
603MO0XCHOCIMU, OHA OyZIeT OBICTPO pPa3BUBATHCA.

26

Such policies contributed to the crisis, and if left in place would harm long-term growth.

Stock market investors, bankers, industrialists and consumers, while relieved that the world econ-
omy did not jump off a ledge last week, will remain nervous of spending until they are convinced
that recent events are not the start of a long-term downtrend.

When kept regularly and accurately, accounts may be a convenient tool of making a business
more effective.

Although accepted as a medium of exchange,

domestic currency is thought to be an inad-

equate store of value under conditions of hyper\
inflation.

Every increase in hourly wages, unless or until
compensated by an equal increase in hourly
productivity, is an increase in costs of produc-
tion.

Though regularly supplied by households, la-
bour is never actually fully used.

When used as a store of value, money is saved
for future consumption.

E) “FOLLOWING”: INTRODUCING CONSTRUCTIONS OR CLAUSES

Model 6

No statement was issued at the weekend following a seven-hour meeting of Cabi-
net Ministers.

B koHIIe Heenu, nocie CeMHUYACOBOTO COBEIIAHUSI MUHICTPOB KaOMHETa, He
OBLIIO OIMYOJIMKOBAHO HUKAKOT'O 3asIBJICHUS.

Prospects are bright for a big expansion of trade between these two countries, following the sign-
ing of a new three-year trade agreement.

Foreign investment in Indonesia has risen sharply, but there are renewed concerns about the coun-
try’s investor-friendliness following the release in June of revised foreign ownership limits.

A 9 percent drop on the Shanghai stock exchange last Tuesday, following reports that the Chi-
nese leadership was planning steps to slow down the country’s economy, sent markets worldwide
spiraling down.

To-day’s inflation report from the Bank of England shows that following the Government’s tough
action to get the economy back on track, growth is set to strengthen through next year with infla-
tion falling to its 2.5 per cent target.

The number of people declared insolvent in England and Wales fell last year following nine years
of consecutive rises.

Consumer confidence has slumped to a record low following chaos in the financial markets,
months of misery in the property sector and spiralling household bills.
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F) “PROVIDED”: INTRODUCING CONSTRUCTIONS OR CLAUSES

28

Model 7

A wider association of this kind is feasible, provided that the methods adopted are
in line with those proposed at the conference.

bornee mupokas opraHu3saliysi TAKOro poja BO3MOXKHA, HPU yCA06uUU, Ymo
IPUMEHSEMbIE METO/IbI OyIyT COOTBETCTBOBATH METOAAM, MPEIIOKEHHBIM Ha
KOH(epeHIuH.

In numbers we trust, provided they’re safe from
political meddling. >

Foreign-owned companies that set up British
subsidiaries to channel their profits pay no tax,
provided their management and control remain
outside.

The US economy usually grew fast enough to
absorb the newcomers, provided they were willing
to work productively at slightly less than the wage
rates paid to accumulated workers.

Recreating documents is not against the law;
banks are allowed to supply replacements if the
original paperwork has gone missing, provided
they are “correct in all particulars”.

Directors can borrow money for the benefit of the company provided it is within the limits im-
posed on them.

The income from a living benefit is not subject to federal income tax, provided it meets certain
criteria.

G) “GIVEN”: INTRODUCING CONSTRUCTIONS OR CLAUSES

Model 8

Given good will on the part of other states, this proposal of Russia could be car-
ried into effect without further delay.

Yuumuwiean noGpyio BoIIO CO CTOPOHBI APYTUX TOCYAAPCTB ITO MPEUIOKEHNE
Poccun MmoxkHO Ob110 OB peanu3oBaTh 6€3 TPOMEIJICHHUS.

10

11

Weaker levels of mortgage lending is unsurprising given the tighter lending standards enacted in
recent months.

It is too soon to reach any definitive judgment, given the relatively few companies privatized and
the extreme movements of oil prices which make it hard to compare that industry with others.

Given the efficient pricing structure, what is the efficient quantity of investment?

Analysts said the revision of the forecast for Hong Kong’s economy came as no surprise given
the current economic climate.

It would be nice to have even more food and films but, given the amount of labour available, it is
simply impossible to produce this output combination.

Given the current economic environment, it is an unfortunate fact of life that there are many
property owners in difficulty with their mortgage.

The weakness of activity and the dearth of credit means that further falls are inevitable, particu-
larly given the Bank’s approach to interest rates.

Given the UK economy has grown on average by 2.5% over many decades, it is rare for gross
domestic product (GDP) to fall on an annual basis.

Given the importance of this next phase of the downturn, we will be monitoring the scale of job
losses at Britain’s top companies.

Given that 72.8 per cent of British companies are sole traders, their difficulties soon translate into
serious issues for households.

This month’s drop in confidence is to be expected, given the recent run of bad news.
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H) ABSOLUTE PARTICIPIAL CONSTRUCTION IN POST POSITION

Model 9
The cargo was badly damaged by the fire, the owners suffering great losses.

['py3 ObUT CHUITBLHO IOBPEXKACH MOXKAPOM, TIPU IMOM (@, U, npuYem) 6,1a0e1bubl
noHecau OonvuIUe nomepu.

10

11
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The Central Bank requires every commercial bank to hold a certain percentage of its deposits as
reserves, the percentage being different for current accounts and time deposits.

Natural resources are one of the three factors of production, the other two being labour and capi-
tal.

Interest rates can affect aggregate demand, equilibrium level of output and employment adjust-
ing correspondingly.

The difficulty of the forecasts in some countries cannot be underestimated, but they should be
undertaken for planning purposes, it being recognized that there can be a considerable margin
of error.

The chief payments and receipts arise from trade in goods, payments having to be made for im-
ports and being received from the sale of exports.

True mass production was the inspiration of Henry Ford, who in 1913 adopted the moving assem-
bly line; with each worker doing one simple task in the production of automobiles.

Auctions make buyers bid against each other, with the seller taking a passive role.

The world distribution of income is unjust, with poor countries having 61 percent of the world’s
population, but receiving only 6 percent of the world income.

Competition in the British life insurance market is cutthroat, with most of the main players re-
porting a decline in the profitability of new policies last year as they were forced to cut prices to
maintain market share.

Hong Kong, Singapore, Taiwan and Malaysia suffered full-blown recessions, with growth rates
falling by more than ten percentage points from peak to trough.

The strength of the economy was more illusory than real, with excess lending and borrowing
leading to a housing bubble similar to that in America.

I) ABSOLUTE PARTICIPIAL CONSTRUCTION IN PRE-POSITION

Model 10

Employment hours having increased, the GNP will also increase.

Tak kax Konuvecmeo pabouux uacoes yseauuunocw, ygennunrca u BBII.

/

1 The country having a budget deficit, inflation may follow.

2 Whole cities (being) razed to the ground during the war, the building of houses was priority
number one.

3 Ceiling prices being controlled by the government, goods may find
their way to the black market.

4  Juterest rate being the opportunity cost of holding money, higher inflation reduces the demand
for real money.

5 oi prices surging and food costs rising steadily, inflation may top 4 per cent by the end of the
year.

National income increasing, the total number of transactions usually increases.

7 Cheques being accepted in payment of purchases, people feel that a bank account is as good as
or even better than money in their pocket.

The Central Bank acting as banker to commercial banks, the financial system works steadily.

Oil prices having surged to record levels and the cost of food in global markets soaring, the
City expects that the Bank will raise its forecasts for inflation this week.
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10 with sales of automobiles on the domestic market sagging, and many dealers in deficit, the
pressure to export autos last year was acute.

171 With German industry pressing for lower interest rates to stimulate investment, the Bundes-
bank’s capacity to defend the mark is extremely limited.

12 With the Government doing its utmost to keep wages down, and with price increases due to
the EU membership, the standard of living in this country would be given an extremely serious
setback.

13 With state pension systems being stretched by the ageing of Europe’s population and with re-
turns on traditional savings instruments shrinking, investors are turning increasingly to mutual

funds.

14 With the prices going higher and higher and the wages frozen, it is becoming increasingly dif-
ficult for the British housewife to make both ends meet.
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X. Infinitive and
nfinitive constructions

A) INFINITIVE: ATTRIBUTE

Model 1

This question will be discussed at the conference shortly zo open in Moscow.

DTOT Bompoc OyaeT 00CyKaaThCsl Ha KOH(PEPEHITUH, KOTOPask 00/10#CHA BCKOPE
omKpwvimosca (BCKOpe OTKphIBaeTcsi) B Mockae.

10

Measures to be taken by the government will not

be popular. \

The dividends to be paid out this year will not be
high.

Intermediate goods are the goods to be used as
inputs in production of other goods.

Finance is not the only thing to have gone global
in the past 25 years

The purpose of a demand analysis to be done is

to determine which products the company can sell
and at what price.

Financial capital to be used in a business may either belong to the business itself or it may be
borrowed from a bank.

Thus the additional cost of developing new technologies, let alone meeting tougher EU standards
to come, might prove more painful for makers of small cars than for those who make luxury

ones.

Farm legislation introduced the concept of a “parity” price for farmers, a price to provide farmers
the same relative purchasing power that farm prices had in a favorable base period.

Manufacturers rely on intermediaries to be active and enthusiastic in selling their products.

One policy decision to be made is whether large quantities should be ordered and received infre-
quently or small quantities should be ordered and received frequently.
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B) INFINITIVE: ADVERBIAL MODIFIER

Model 2

To (in order to) lower juvenile delinquency governments have to create jobs for
young people.

Ymoowvl cnuzums ypoBEHb MPECTYMHOCTH CPEAN MOJIOAECKH, MPABUTEIHCTBO
JIOJKHO CO3/1aBaTh padoure MecTa Jisi MOJIOJIBIX JIFOZCH.

10
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A number of measures are taken in order to \
increase profits of the enterprise.

To earn more profits the firm has to vary its
technology.

Firms and individuals spend their income 7o
consume and to invest.

To analyze the labour market, an economist
should first explain how people allocate
their time to production.

With an increase in the price of one factor
of production, zo produce a given output the
firm starts using a technology economizing
on the factor whose price has risen.

To calculate profit-maximizing output and the corresponding quantities of the factors demanded,
we have to calculate the total cost for all output levels.

To overcome the negative consequences of the global financial and economic crisis, we should
take effective joint actions to rehabilitate the global financial and investment system.

In order to stay competitive in your business you really need to step back and look at what you
offer and how you offer it.

British Airways is reducing their seat capacity and postponing delivery of A380’s in order to
cope with the global economic downturn.

To stay competitive in a BeeZid auction you must develop a strategy and follow certain steps in
order to acquire items at really discounted prices.

Model 3

This question is too difficult o be settled without further consultations.

OTOT BONPOC CINULIKOM CIIOKEH, YMOObL €20 MONHCHO ObL0 peutumb (UTOOBI €10
pemnTh) 0e3 TaabHEeUIINX KOHCYIbTALNM.

N 6O L1t A W IN -

10

The wage in this enterprise is oo low to attract qualified workers.

The information is oo outdated 7o be used for the analysis of the present-day situation.

The rate of unemployment is foo high to be ignored by the trade unions.

Russia is now simply #oo big in the world #o remain untouched by any major global shake-out.
The production costs have risen enough to become a real headache for the manager.

The job is well-paid enough to meet his requirements.

He has made a big enough contribution to the development of the project to hope for a success
and a good share of the profit.

Capital investments in the production must be large enough to obtain the equity which stock-
holders will get in the form of dividends.

The pessimists will argue that the fear of a change in expected growth conditions can often be
enough to change the previously expected consumption and investment patterns, and this, his-
torically, has caused recessions and equity market crashes.

In developing countries, labour efficiency is foo low in agriculture o hope for an increase in food
supply in the near future.
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C) INFINITIVE CONSTRUCTION: COMPLEX OBJECT

Model 4

Many people believe the extent of public ownership in industry to depend very
much on political ideology.

MHorue 1101 TyMaroT, 4TO pa3mep 20Cy0apCcmeen ol coOCmeeHHocCmu
B IMPOMBIIICHHOCTH B 3HAUUTEJILHOU CTETICHU 3A6UCUm OT TOJTUTUYECKON
UJICOJIOTHH.

10
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The economics theory assumes each individual’s expenditure to contribute to some other indi-
vidual’s income.

The government assumed the lower company taxes to promote domestic industry development.
Economists believe the availability of labor to be an essential requirement for economic activity.

Chemical and steel workers know their earnings to increase more than those in textile and trade
sectors.

Newly established companies suppose e-commerce to be the essential part of their business.

Economists expect global demand for all forms of energy to jump by one-third over the next 10
years as major emerging economies - China, India and Brazil, in particular - seek fuel supplies
from around the globe to feed growth in their economies.

They project demand in Europe to grow at a
slower pace than in the United States or China, but
Europe will face a greater dependence on imports
as its own oil and natural gas production trails off.

Today perhaps more than ever before, society
expects companies to use their economic strength
for broader social goals, and to demonstrate envi-
ronmental responsibility, support for communities,
high standards of ethical behavior, and greater
transparency and accountability.

The Prime Minister has decided to get the Cabine/
to make an earlier than expected decision on the

budget.

A number of bail-out strategies for bond insurers
are under consideration. New York’s insurance
regulator, Eric Dinallo, is trying to get Wall Street
banks to stump up funds for a rescue.

D) INFINITIVE CONSTRUCTION: COMPLEX SUBJECT

Model 5

Demand for imports is expected fo rise when domestic income and output rise.

O)KI/II[aCTCSI, 9TO C IMOBBIMICHUEM BHYTPCHHHUX JOXOAO0B U BBLIITYCKA, CRPOC HA
HUMIIOPT eo3pacmem.

The UK government is known fo take nearly 40 percent of national income in taxes.
Large budget deficits are said to have resulted in rapid inflation.

Alcohol and tobacco are usually believed to be products with a very inelastic demand.
An increase in the wage rate is expected to reduce the quantity of labour demanded.

More people have been found fo choose to stay unemployed in countries with very high tax rates.

N 1 A W N =

The budget deficit is known to be the excess of government expenditure over government rev-
enue.

/

7 One form of money or another seems to have been used in all societies since time immemorial.

When a conflict arises between making a profit or serving the public interest, the Fed is expected
to choose the latter.

O  Thefirm is now thought o be in control of almost 40% of its own shares, and is still buying.

10 These job cuts bring the total job losses in the housebuilding sector to 5,500 this year. The true
figure is thought to be even higher as this does not include many casual staff on building sites.
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Model 6

The deflation produced by these policies is likely (sure, bound) to increase unem-
ployment.

Hednauus, Kk KOTOpOil MpUBEN STOT NOTUTHUECKUH KypC, 6eposamHuo (HasepHaka,
obazamenvHo) yeeanuuum 6e3paboTHILY.

Bi A W N =

10
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Growth in the economy is unlikely to be continuous over a long period.

If partners have serious and constant disagreements, the business is bound to suffer.
Tougher bank regulation is bound to follow the subprime crisis.

An increase in the wage rate is sure to reduce the quantity of labour demanded.

Japan’s economic success carries inevitable political consequences, and they are bound to be
recognized sooner or later.

However, the move is likely to tie the hands of the next Slovak government, as it requires a high
degree of budgetary discipline.

In financing business activities a company is likely to rely to a great extent on short-term financ-
ing.

With demand weak and the stock of homes for sale close to its highest level for 15 years, prices
are likely to fall.

The main reasons to be more optimistic are that domestic demand (consumer spending and in-
vestment) is likely to remain stronger further.

The spreading sub-prime crisis in the United States is unlikely to have a serious impact on Chi-
na’s real estate sector.

E) INFINITIVE CONSTRUCTION: “FOR + NOUN (PRONOUN) + INFINITIVE”

Model 7

Present plans are for the Prime Minister to make a statement in the first part of
next week.

B HacTosinii MOMEHT TIaHbl COCTOSIT B TOM, ¥H00bl npeMbep-MUHUCD
ébicmynuJ C 3asIBJICHUEM B Ha4aJle CICIYIOIIECH HEJICIIH.

10

For the equipment to be re- \
placed by the new one, the
accountant should calculate both
physical and moral depreciation.

It is important to keep unem-
ployment rate as low as possible
for society to use its resources
effectively.

Several European countries, led
by France, had called before the
G8 meeting for Russia to allow
independent gas producers to

sell gas directly to Europe, offering in return longer-term supply contracts and help with financing

further pipelines.
A «hotline» will be set up for Russian auditors to obtain qualified advice.

The report sees little reason for the fund to provide long-term loans to countries in deep poverty
but not in acute crisis.

The rise of homeless emphasizes the desperate need for the Government to fulfill its pledge to
meet the problem with a lower rate of interest for housing.

It is not necessary nowadays for markets to be located in any particular place.

The practice shows that it is natural for wholesalers to distribute goods in large quantities, usu-
ally to retailers for resale.

For the inflation to be anticipated and restricted, the government should follow recommenda-
tions of experienced economists.

It is quite possible for high unemployment to coexist with shortages of particular types of labour
or shortages in certain geographical areas.
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F) SUBJUNCTIVE: “SHOULD SB/STH DO STH” .

40

Model 3

Oil-producing capacity outside OPEC could be brought back on stream should oil
prices ever flip up again.

Hedrenpounspomsme montaoctu 3a npeaenamu OITEK mormu 661 ObITh CHOBA
MIPUBEJICHBI B JICUCTBUE, 8 cyuae ecjiu npou3oioen Hoeblil CKA40K YeH Ha
Heghmp.

Should NY SE system falter, much stock trading would shift to NASDAQ and alternative ex-
change networks, which are using the newer systems.

Should some bank or big hedge fund be caught out by the sudden sell-off, it could have lasting
implications.

Should cars switch from oil to electricity, the demand for power generated from carbon-free
sources will increase still further.

There are fears that economic growth will suffer should credit continue to be hard to obtain.

Should China get into trouble in the next couple of years, Russia’s outlook may darken signifi-
cantly.

Since October last year, should a bank fail, the FSCS will meet in full the first £35,000 of any
loss — but nothing above this.

Should a lender collapse, savers will be rescued by a generous state bail-out, receiving their cash
up to £50,000 within seven days.

X. Gerund and gerundial
construction

A) GERUND

Model 1

Supermarkets will be urged to drop “three for two” deals on food that encourage
shoppers into bulk-buying more than they need, often leading to the surpluses be-
ing thrown away.

[IpaBUTENBCTBO IPU30BET CyNIEPMAPKEThI OTKA3aThCs OT aKUUU “TpHU IIpeAMETa 110
[IEHE JIBYyX ’, KOTOPbIE MOATAIKUBAIOT MOKyMaTeIe K npuoodpemenuto 60IbIIETO
KOJIMYECTBA TOBAPOB, YEM MM HYXHO, B PE3YJIBTATE YErO U3JIUIIKHA YaCTO
BBIOPACHIBAIOTCSL.

1 In this chapter the emphasis is not on \
learning economics but on mastering the
tools of the trade.

2 Models are frameworks for organizing the
way we think about a problem.

3 They (macroeconomists) prefer to treat
them all as a single bundle called “consum-
er goods” because they are more interested
in studying the interaction between house-
holds’ purchases of consumer goods and
firms’ decisions about purchases of machin-
ery and buildings.

4 Conservative people in rural areas were tremendously enthusiastic about buying shares of rail-
road stock, often mortgaging their farms or businesses to do so.

5 Current inflation levels are “worrying” and are set to stay high before cooling gradually next
year.

6 Government sets guidelines to ensure fair competition without using direct control.

The laws have had some success in preventing fraud and secret dealings aimed at manipulating
stock prices.

8 Dedication to laissez-faire has not prevented private interests in the United States from turning to
the government for help on numerous occasions.
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O They can organize their work without being interfered with and controlled by big business.

10 Mexico and Brazil are satisfied with having increased their exports of manufactured goods to

industrialized countries.

B) GERUNDIAL CONSTRUCTION

42

Xl. “since/as/for/once”
in adverbial clauses

A) “SINCE”: REASON

Model 2
We look forward to much attention being given to this question.

MBI paccUUTBHIBAEM Ha TO, UTO ATOMY BOIIPOCY Oydem yoeneno 00nvuioe
6HUMAHUe.

Jobs and living standards depend on the industrial capacity of the nation being used to the full.
A new firm can’t enter the market without its goods being distinguished from others by means of
an original trademark.

The stockholder doesn’t mind the investment interest being sent to his account in the bank.

The difference in the results obtained appears to be due to the equipment depreciation having
been calculated by different methods.

Foreign exchange analysts, despite all the fanfare and pep talk about the United States reassert-
ing its leading role as a bastion of free enterprise, remain extremely skeptical that the dollar’s
strength can be sustained without the support of high interest rates.

With consumer prices in the euro area only 1% higher than they were a year ago, there is little
risk of currency depreciation causing a dangerous surge in inflation.

While WTO accession would normally lead to the United States lifting Jackson-Vanik from Rus-
sia -- otherwise, Washington would be in violation of the trade organization -- the aide indicated
that it was not certain that that would happen in this case.

Model 1

Up to the present, international agreements on the prices of certain major goods
have scarcely modified the situation since prices are always dictated by the big
industrial powers.

I[O CUX ITOPp MCIKAYHAPOIHBIC COTTIAIICHHUA O LICHAX Ha HCKOTOPHIC OCHOBHLIC
TOBAPHBI ITPAKTUYCCKU HC U3MCHUWJIN ITOJIOKCHUC NCJI, ROCKOJIbKY LICHBI BCCTAA
OIIPCACIIAOTCA KPYITHBIMU IIPOMBIINIJIICHHBIMHA ACPKaBaAMU.

Since people dislike risk, they will not put all their eggs in one basket. \

It was not a typical privatization, since all shares were sold to employees
— what we call an employee buyout.

As prices rise, the country gradually becomes less competitive since the
nominal exchange rate remains fixed.

Since occupational pensions are deferred wages, affili-
ates must be actively involved in the setting up, imple-
mentation and control of occupational pension schemes,
as well as in the monitoring and strategic management
of pension funds.

Accounting has been called the language of business.
That analogy is accurate, since accounting is a form of
communication.

It should be remembered that accounting reflects the environment in which it operates. And since
environments differ around the world it follows that accounting will also be different around the
world.

Since most “money” is actually nothing more than a saving or checking account at a local bank,
the most effective way for a central bank to control the economy is to increase or decrease bank
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10

lending and bank deposits.

Since most of the new technical knowledge is being produced by advanced countries, granting
stronger protection to intellectual property means that developing countries, who are primary users
of knowledge, end up transferring rents to the producers.

Since a competitive advantage often goes to the entrepreneur who is quick to exploit it, many small
business owners see strategic alliances as an essential part of their plan for growth.

Since the real currency of such contracts is cash, rather than barrels of crude, there is no limit to the
number of bets that can be made. And since no oil is ever held back from the market, these bets do
not affect the price of oil any more than bets on a football match affect the result.

B) “AS”: REASON

Model 2

This is very important to understand especially for small businesses as you have
to always think of your limited budget.

DTO 0COOCHHO Ba)KHO ITOHSATH MaJIOMy 6H3HCCY, l’lOCKOJley/maK KaK BaM BCCTa
MpUXOOAUTCA A1yMaTh O CBOCM OI'paHHYCHHOM 6IOI[}KCT€.
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As he had not paid his bill, his electricity was cut
off.

Greater confidence has driven down yields as
investors needed less compensation for risk.

In Britain, government bond prices rose as inves-
tors continued to switch out of equities.

As Europe adopts the Anglo-Saxon model, so

it becomes easier for students to transfer onto
courses in other parts of the world that also have
the same system, such as North America and
Australasia.

“Choosing suppliers is a hard thing to do, but we are doing it nevertheless, as we intend to work
here for a long time,” said the director for Renault in Russia.

But the world as a whole won’t suffer, as the great emerging economies of Asia - China and India
- will carry on booming regardless.

Economic growth is the ultimate objective of economic policy as it provides the key to improve
ments in living standards and the provision of more and better social services.

As quality is informally assessed by the price charged, it is important to choose a price that is
consistent with the image of the product and the other elements of the marketing mix.

To form a limited partnership, partners must file a certificate of limited partnership with the proper state
office, as state law governs this form of organization.

Maybe, as more people are forced to cut back, we will all start to think more carefully about how we
spend our money.

C) “AS”: TIME

Model 3

Work-in-progress is kept to a minimum as goods are produced only as they are
needed for the next stage of production.

HC3aBCpIHCHHOC IMPpOU3BOACTBO CBOAUTCA K MUHUMYMY, TdK KaK TOBAPbI
IMPOU3BOAATCA JIMIIb TOIA, Koz20a OHU HYKHBI IJIs CJICI[YI-OHICﬁ CTaauun
IMPpONU3BOACTBA.

1 Even as the rest of the global economy slows down and some parts even flirt with recession, busi-
ness in large parts of Africa is booming like never before.

2 All of them shared a sense of urgency as they watched the progress of a large and better financed
competitor.

3 What happened was that the financial markets became more and more powerful at the same time
as the controls on them became less and less stringent.

4 Mortgage rates are going up as the housing market is going down, and that’s not good.

In the future, as domestic gas prices increase and the cost of renewable energy technologies falls,
the percentage share of renewables should grow.

6 A further sign of the hardship facing retailers came as the kitchen equipment and retailer Pro-
Cook fell into administration.

7 The proportion of China’s exports that were first imported from elsewhere before being finished
and sold on has dropped to 44 percent from over 50 percent last year, moving down as oil moved

up.



D) “FOR”: REASON

E) “ONCE”: TIME

Model 4

Television is the prime culprit for it has become the model for everything in our
society.

TeneBueHne — IMIaBHBIM BUHOBHUK, MAK KAK OHO CTAaJI0 MOJIEIBIO BCETO
CYILIECTBYIOIIETO B HAIlIEM OOIIECTRBE.
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It does not make sense to charge all users the same rate, for users at different times impose very
different marginal costs on society.

There is going to be a recession in America and probably in Britain too, for we have both sinned
with our debt, our deficits and our soaring house prices.

It doesn’t really apply to rich Japan, for its domestic economy is weak and so the loss of exports
to the US will injure it more.

Technological advance means increased concentration of ownership, for the largest corporations
are best able to develop and introduce new techniques.

When is an economic slump not a slump? The answer: When the economy in question is Japan’s.
For what Japanese economic and business leaders are all too ready to define as a «slump» or
«slowdown» would be considered a rosy picture in virtually any other industrial country of the
West.

When Dan Atkinson and I started work on our new book, The Gods That Failed, this time last
year, our sense was that things were about to go seriously wrong for the global economy, for
while the terminology had changed, the behaviour of markets had not.

This can only be done through control of credit as a public utility, for the causes of social distress
are economic, and the economy is controlled through the monetary system.

Model 6

Once full employment has been achieved, any further expansion of demand will
stimulate inflation.

Kak monvko Oynet TOCTUTHyTa MOJIHAS 3aHATOCTb, JJI000€ YBEIMUEHHUE CIIPOCa
OyIeT MOACTEruBaTh MHQIALNIO

The rules that Europe has adopted say that no country can withdraw from the Union once it enters.

Once the first entrepreneurial investment of capital has been made, someone must be hired to man-
age the new business, factory or other endeavor.

Once a company has sold its original stock to the public and it traded freely in the market, the price
will be determined continuously during the trading day by what buyers will pay and what sellers
will take.

Agency (a federal regulatory agency in America) officials acquire intimate knowledge of the
business they regulate, and some officials are offered high-paid jobs in those industries once their
tenure at an agency is ended.

Can you trust the records and paperwork that your bank keeps on you? You may be a little less hap-
py to accept its version of events once you have read about Paul Walton, who was on the receiving
end of what Royal Bank of Scotland admits was “a series of unfortunate errors”.

If faster economic growth is desired, revision of the tax structure is called for to permit a higher
rate of investment once full use of resources is achieved.

It was hoped to drive down the price of gold. This would
help to check any possible flight away from currencies
and paper money which, once under way, might threaten
a major disruption of the banking system such as oc-
curred in the 1930s. >

Once the business is established, it might also be neces-
sary to obtain further funds for either expansion or the
continuation of existing operations.

Once a corporation attains S status, it stops paying corporate income taxes and instead passes tax-
able income or losses on to the stockholders.

Once customers have evaluated brands and made their choice, they must still decide how and

10 where to make the purchase.
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XII. Elliptical constructions

Model 1
Very little, if anything, could be advanced in the defense of his policy.

Iloumu "udero Henb34 (paxkmuuecku, Mao 4TO MOXKHO) CKa3aTh B MOJACPIKKY
€r0 ITOJIUTHUKHU.

Model 2
If anything, it will be in their interests to follow this course.

Bo ecakom cayuae (kak 661 mo Hu 0b1710), B UX MHTEPECAX CIEA0BATH IAHHBIM
KYPCOM.

Model 2
The British people have to submit to new taxation, however high.

BpurtaHIbl BEIHYKI€HBI MUPUTHCSI C HOBBIMU HAJIOTaMU, KAKUMU Obl 6bICOKUMU
OHU HU OblU.

You would have thought that, after the economy crashed in August, the arts in Russia would have
grounded to a half. If anything, the opposite is the case.

What, if anything did the President bring back from Beijing? Above all, the event itself, the fact
that it took place.

National governments like the European Commission weak, and even the voters do not want
hyperactivity in Brussels. Nor should they: if anything, it should have less money to spend in
future, not more.

New patterns of economic development have brought material affluence to the oil-rich countries
of the Middle East. In contrast, poverty has, if anything, become more deeply entrenched in parts

of sub-Saharan Africa.

If anything, Ireland has become less fiscally attractive to foreigners over the past few years:
many of the grant and tax dodges once used to seduce them have gone.

The corporate sector is, if anything, more financially extended than the domestic.

There is always the chance that such an approach would slide into protectionism, pure and sim-
ple. But the alternative is, if anything, more risky.

Whatever the source, finance will be required at
the start-up stage of a business.

If successful, the reform will not only restructure
the financial mechanism of China’s village and
town authorities, but will also re-draw the coun-
try’s rural political landscape, or even re-shape
the grass-roots power regime of China.

But whatever his long term aims, the President’s
immediate intentions and motives were made
relentlessly clear at his last Press conference less
than three weeks ago.

Under him, and with a strong political will to
show Europe as united whatever the cost, Airbus
Industry operated in a unique manner, with parts
being flown in from Britain, Germany and Spain
to be assembled in Toulouse.

Whatever his reasons, he has now brought the
other members of NATO face to face with some
very big and difficult questions about the military
and political structure of Europe and its relations
with the United States.

If rapid, an increase in average price level results in inflation.

But the decision, if logical, requires a measure of courage.
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XIlll. Inversion

Model 1

Had we applied new highly efficient equipment, we would have decreased the
production cost.

Ecnu o6vt Mt ucnonv3osanu HoBoe BHICOKOI(PGEKTUBHOE 000PYI0BAHHE, MBI
CHU3UIH ObI cE0ECTOMMOCTb.
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Had the election campaign been still in progress, the wage squeeze might have become an issue.

If nationalized industries previously had bad performances, they would have been worth little had
they been sold at that stage.

Had this policy been adopted, the subsequent history of the treaty might well have been quite
different.

To assess the social opportunity cost of tying up resources in a project in the nationalized indus-
tries, we need to ask what would have happened to the resources had the project not been under-
taken.

Had the supply side of the economy been in better shape, a slowdown in demand growth would
have been only temporary.

Had the plan been to auction the assets individually, Gazprom would have faced competition for
at least some of these, a factor that would likely have driven prices higher.

Had the reform succeeded, California would have been the fifth state to insure nearly all its resi-
dents.

Model 2

No longer is Italian home-appliance maker Indesit coaxing older workers to
retire early to make room for younger recruits.

Hmanwvanckuii npouzeooumensv 6vimoeoit mexuuku Hnoezum 0oinbliiie He
nolmaemcs y2060pums NOXKUIbIX padOUnX PaHO YUTH Ha TIEHCUIO, YTOOBI
0CBOOOIUTE MECTO MOJIOABIM.

10

Never before has the European Union invited such a large group of countries which has had
such a remarkably different social and economic system.

Far more questionable are the restrictions proposed for the state-financed unemployment benefit
programs for the short-term unemployed.

In the newer industries, such as computers, small companies have shown themselves capable of
moving faster to exploit new technologies than have giant corporations.

At the bottom of the Third World list are the world’s poorest countries, found mainly in sub-
Saharan Africa, which have so few resources and so little money that it is virtually impossible for
them to develop at all.

Coupled with the spending and tax proposals were changes in the federal regulatory process and
monetary policy.

Opportunities for individuals are increased, as
are the freedom and range of alternatives avail-

able to individuals. \

Only by finding out the needs of customers can
business organizations respond to those needs.

Only after the business has an established track
record will most bankers and other financial
institutions be interested in providing capital.

Across a great arc of the Eurasian steppe from
Ukraine through Russia to Kazakhstan lies
enough arable land to feed the world for years to
come.

If you look at the UK’s trade figures you will
see that rarely, if ever, does the value of exports
equal the value of imports.
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Model 3

The export of capital does not stabilize the pound, nor does it serve the natural
interests of the United Kingdom.

BriBo3 kanurtana He CTaOUIM3UPyeT QYHT, @ maKice He CAYHCUm
nercTBUTENbHBIM HHTEpecaM CoeaunenHoro Kopoinescraa.

Many companies have no need to borrow. Nor are they having problems paying back their exist-
ing debts.

Decontrol alone does not constitute an adequate oil policy. It is not likely to protect the economy
against temporary shortages. Nor will it significantly reduce dependence on foreign oil imports in
the long term.

Lower interest rates may not stop house prices falling, nor will they prevent banks from tighten-
ing their lending standards.

The pound should no longer serve as a vehicle for the export of private capital and the return flow
of profits and dividends, nor should it be used for military expenditures abroad.

The consequences for trade of the 10 per cent surcharge on imports attracted immediate attention,
but the surcharge does not apply to all products, nor is it invariably 10 per cent.

But even if it did happen it would probably not be soon enough to prevent unemployment from
rising. Nor would it stop the credit crisis from biting.

We must remember that the tax gap is simply not a pot of gold that we can dip into every time we
want to pay for a new or expanded program. Nor should it be viewed as an easy solution to exist-
ing challenges, such as the alternative minimum tax.

Model 4

Not only will he introduce a new bottom rate of income tax of 10% this April, but
next year he will cut the basic rate from 23% to 22%.

On He mo1bKO BBEJIET HOBBIM MUHUMAJIbHBIM YPOBEHD MMOAOXOAHOTO HAJIOra B
pasmepe 10% B ampesie 3TOTo rojia, HO TaKXe COKpaTuT TapudHyro cTaBky ¢ 23%
10 22% B CIIEIYIOIIEM TOJTY.

Not only are most of Great Britain’s imports
and exports carried in British ships, but a goo
deal of trade in which Britain has no direct inter-
est is undertaken by British shipping companies.

Not only is income redistribution unpopular
with large parts of the electorate, it might also
undermine the incentives that are considered
necessary to encourage hard work and enter-
prise.

Owners of entrepreneurial businesses are keen
to expand their business. Not only will they
have a greater need for external finance, but
their commitment to expansion overcomes any
reluctance to share the business with others.

Not only have prices dropped but activity in the
sector has also plunged - particularly for new properties.

The survey published yesterday revealed that not only were banks lending less to small and
medium-sized businesses, they were also charging more and shying away from anything they
considered risky.

Not only is the mortgage industry the culprit, but it long denied the existence of a problem.

Not only does this solve the problem of comparing things measured in different quantity units, it
also takes account of the size of the market.

Not only does shipping bring the Greek economy more than $1.5 billion in receipts each year but
its growth over the last 15 years (with the fleet almost tripling in size) has been almost unparal-
leled.

Not only has Middle Eastern oil money made its way into American securities, but many people
in Europe, Japan and other parts of the world feel that their best opportunity for securing their
wealth is to invest in American stocks.
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Model 5

It is the government that can give tax benefits to the companies in order to sup-
port domestic industry.

Hmenno npaBUTEIBCTBO MOXET MPEIOCTABIIATH HAJIOTOBBIE JIbIOTHI KOMITAHUSIM
JUTA TIOJIEP>KKU OT€YECTBEHHOW ITPOMBIIIIJICHHOCTH.

It is the use of money as a medium of exchange that distinguishes money from other assets.

It is from this angle that Russia is viewing the development and furthering of integration on the
continent.

In a market economy it is customers who decide what is to be produced.
It was the government’s tight policy which allowed to reduce high rates of inflation.

It was the issued stocks that allowed the company to accumulate the necessary money for the
new project.

Free enterprise as an idea can be simply described, but it is how this idea is applied to real life
that is important.

Although it was Germany which had led a financial rescue operation earlier in the year, it was,
ironically, the relationship with Germany which had probably done more to undermine Turkey’s
economic stability than any other single factor.

It is because we have become increasingly wealthy as a nation that we have been able virtually to
eliminate child labor, to remove the necessity of work for many of the aged and to make it unnec-
essary for millions of women to take jobs.

The conventional thinking is that it is demand that effects inflation, that too much demand causes
inflation.

Model 6

With consumer demand falling and the economy moving towards recession, there
is not a strong incentive to increase investment spending.

B YCIOBUAX CHUKAOIICTOCA CIIpOCa U HpI/I6J'II/I}KaIOH_ICI‘OCH OKOHOMHWYCCKOI'O
criaia omcymcmeyem 3HAYUTEIbHBIN CTUMYJI K YBCIINYCHNUIO HHBCCTUIINOHHBIX
pPacxoaoB.

Over the past 200 years there has been a striking
correlation between waves of increased capital
mobility and the incidence of banking crises.

The fact that capital mobility reached record
levels earlier in this decade was a clear sign that
there were problems ahead.

To be fair to the IMF, the Bank for International
Settlements, the Bank of England and others,
there were warnings galore about the risks being
taken in all sorts of asset markets.

The price of oil is so high and it hurts so much because there has been no serious effort to reduce
our dependency.

There is great danger that there will be social disruption as inflation rises and as the efforts to
fight it start to bite.

High street retailers are starting to feel the full impact of the credit crunch. There appears little
likelihood of a significant turnaround in the short term.

In America, where the credit crunch is more advanced than in Britain, there have been 50,000
cases of suspected mortgage fraud this year.
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XIV. Subjunctive

A) SUBJUNCTIVE AFTER “IT IS ADVISABLE”, ““ IT IS NECESSARY”,
IT IS RECOMMENDED”, “IT IS CRUCIAL”, “IT IS ESSENTIAL”, “IT IS
REQUIRED”, “IT IS IMPORTANT”, “IT IS DESIRABLE”.

Model 1

In order to cut taxes it is necessary that the government spending be cut.

UTOOBI COKpATUTh HAJIOTH, HEOOX00UMO CHU3UMB TOCYTAPCTBEHHBIE PACXObI.
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It is essential that accurate records of every transaction be kept.

It is required that government licenses be obtained by commercial banks before starting their
activity in the financial market.

It is important that the population’s main food products requirements be met.

It is desirable that as much information as possible about consumer demand be obtained before
planning business strategy.

For poor countries it is advisable that different incentives be provided for domestic producers
who will use the country’s scarce resources in their business.

It is recommended that trade be in balance and the foreign exchange market be in equilibrium,
each country having a comparative advantage in at least one good.

As foreign trade involves international payments, it is important that exchange rates and the bal-
ance of payment be examined.

It is crucial, that the potential of our cooperation be realized in the interests of strengthening
peace, stability and trust, not forgetting strict adherence to the United Nations Charter and the
basic standards of international law.

It is imperative that the borrower’s character be above reproach.

I would like also to suggest that it is crucial that we make efforts to go beyond cost-effective-
ness.
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